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Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY
Winter Examination-2018

Subject Name : Software Engineering
Subject Code : 2TEO4SEE1 Branch: Diploma (CE)
Semester : 4 Date:29/10/2018 Time :10:30 To 01:30 Marks : 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Attempt the following questions:

a) Which two models don’t allow defining requirements early in the cycle?
a) Waterfall & RAD b) Prototyping & Spiral c) Prototyping & RAD
d) Waterfall & Spiral
b) What is Cyclomatic complexity?
a) Black box testing b) White box testing c) Yellow box testing d) Green box
testing
c) Which one is not a risk management activity?
a) Risk assessment b) Risk generation c¢) Risk control d) None of the mentioned.
d) Boundary value analysis belongs to
a) Black box testing b) White box testing c) YeIIow box testing d) Green box
testing
e)  Which of the following life cycle model can be chosen if the development team has
less experience on similar projects?
a) Spiral b) Waterfall c) RAD d) Iterative Enhancement Model
f)  Unit testing is done by
a) Users b) Developers c) Customers d) None of the mentioned.
g) Purpose of process is to deliver software
a) in time b) with acceptable quality c) that is cost efficient d) both a & b
h)  Which phase is not available in software life cycle?
a) Coding b) Testing ¢) Maintenance d) Abstraction
i) Which is not a size metric?
a) LOC b) Function count c) Program length d) Cyclomatic complexity
j)  Which one of the following is a functional requirement?
a) Maintainability b) Portability c¢) Robustness d) None of the mentioned.
k) SQA stands for :
a) Standard Quality Association b) Software Quality Assurance
¢) System Quantitative Alliance d) None of these.
[)  The testing in which code is checked
a) Black box testing b) White box testing c) Red box testing d) Green box testing

%‘z\ z
3@

Page 1of4

5
Al\gb

]2

(14)



m) Which of the following is an important factor that can affect the accuracy and
efficacy of estimates?
a) Project size b) Planning process c) Project complexity d) Degree of structural
uncertainty
n) ER model shows the
a) Static view. b) Functional view. c) Dynamic view. d) All the above.
Attempt any four questions from Q-2 to Q-8

Q-2 Attempt all questions (14)
(@)  Explain classical waterfall model. (7)
(b)  Explain characteristic of SRS. (7)
Q-3 Attempt all questions (14)
(@)  What is coupling? Explain different types of coupling. (7
(b)  Explain spiral model with their benefit. (7)
Q-4 Attempt all questions (14)
(@) Draw and explain different symbol of Activity Diagram. (7)
(b)  Explain GANTT Chart, PERT Chart with proper diagram. (7
Q-5 Attempt all questions (14)
(@)  Write a short note on software quality management system. (7)
(b)  Write a short note on COCOMO Model. @)
Q-6 Attempt all questions (14)
(a) Explain Requirements Gathering and Analysis in term of software engineering. (7)
(b)  Draw DFD for Library management system. (7
Q-7 Attempt all questions (14)
(@  What is Cohesion? Explain Classification of cohesion. (7
(b)  Write characteristics of Software Maintenance. (7)
Q-8 Attempt all questions (14)
(@)  What is testing? Explain different types of testing. @)
(b) Differentiate hardware reliability and software reliability. (7)
Q-1 Attempt the following questions: (14)
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